(D Solve and write answers in whole numbers.

a

0.9 million — 800 000 + 1.7 million = -

0.3 million + 1 900 x 6 = ([

Q||o||o

% million + 2.07 miillion + 3 = .

1.09 million - 324 000 x 2 = ([l

| o
8-5 million = 1.6 million + 5 = -

-|5~miilion><3+5=-

14 x (0.4 million + % million) = -

Qo |3 =] |-

(480 000 - 2 million) + 20 = ([l

b

2.5 million + 500 000 - 1.3 million = -

9000 000 - 37 million + 1.3 milion = (lD[d]

3700 000 + 5 million - 7.375 milion = (il

f

|.2 million + 1.08 million x 3 = -

%million =2+ 4% million = .

] ]9.825 million - 5 x 1.94 million = (D

0.2 million — 0.875 miillion + 8 = -

19 x 0.028 million + 4 = [P

(3% million - 2.84 million) x 10 = (i)

h
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6.904 million £AfMEWORKSHIEENS



